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QUESTION 1

With which WLS license is WLS Management Pack EE included?
A. WebLogic Suite

B. WebLogic Server Standard Edition

C. WebLogic Server Enterprise Edition

D. WebLogic Server EE or WebLogic Suite

E. WLS Management Pack is not included in any of the WLS packs

Correct Answer: C

QUESTION 2

Which three metrics are commonly used to evaluate garbage collector performance? (Choose three.)
A. Throughput

B. Pause time

C. Method area

D. Native threads

E. Heap size

Correct Answer: ABE

http://www.oracle.com/technetwork/java/javase/tech/memorymanagement-whitepaper-1- 150020.pdf(page 5,
performance metrics)

QUESTION 3

After going through a sizing exercise, you determine that your application will need 100 storage-enabled JVMs with 4
GB heaps. You have 10 physical machines with 16 cores and 32 GB of RAM.

Which performance-tuning best practice would be violated by deploying your application on these machines?
A. Heap sizes should not be larger than 512 MB.

B. OS socket buffers should be at least 2 MB.

C. Avoid OS memory swapping/paging by not exhausting physical RAM.

D. Do not exceed one JVM per core.

Correct Answer: B
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QUESTION 4

What information is needed in the process of creating a patch template for WLS Domain?
A. one or more patches to apply

B. the domain target

C. stage directory (if not already staged)

D. WLS Domain Administrator credentials, and Host credentials

E. Patch Plan

Correct Answer: D

QUESTION 5

What are the three business drivers for cloud computing? (Choose three.)
A. better resource utilization

B. enterprise agility

C. higher customer support quality

D. ease of administration

E. elastic scalability

Correct Answer: ADE

QUESTION 6

Which system property is used to customize a Coherence deployment configuration for different environments?
A. tangosol.coherence.cacheconfig

B. tangosol.coherence.site

C. tangosol.coherence.management

D. tangosol.coherence.override

Correct Answer: A

QUESTION 7

What is the correct order of API calls to perform an end-to-end assembly deployment operation?
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A. UploadAssemblyArchive -> RegisterAssemblyArchive -> CreateAssemblylnstance -> DeployAssemblylnstance ->
UndeployAssemblylnstance -> DeleteAssemblylnstance -> UnregisterAssemblyArchive -> DeleteAssemblyArchive

B. CreateAssemblylnstance -> UploadAssemblyArchive -> RegisterAssemblyArchive -> DeployAssemblylnstance ->
UndeployAssemblylnstance -> UnregisterAssemblyArchive -> DeleteAssemblyArchive -> DeleteAssemblylnstance

C. UploadAssemblyArchive -> RegisterAssemblyArchive -> DeployAssemblylnstance -> UndeployAssemblylnstance ->
UnregisterAssemblyArchive -> DeleteAssemblyArchive

D. RegisterAssemblyArchive -> UploadAssemblyArchive -> DeployAssemblylnstance -> UndeployAssemblylnstance ->
DeleteAssemblyArchive -> UnregisterAssemblyArchive

Correct Answer: B

QUESTION 8

Your customer is a financial services company that uses a large compute grid (not Coherence) to do risk calculations.
Objects representing risk scenarios are cached in Coherence. When these objects are updated, they are sent to the
compute grid to recalculate risk via a continuous query cache. Assume that there are 100 compute servers in one data
center and 100 GB of cached data. The customer is not worried about potential cluster instability, given their network
design.

Which solution supports the customer\\'s requirements? Keep in mind licensing costs and features by edition.

A. Coherence Standard Edition. Nothing special is needed and Standard Edition is the low- cost option.

B. Coherence Enterprise Edition, with the compute grid clients being storage-disabled cluster members.

C. Coherence Grid Edition, with the compute grid clients being storage-disabled Coherence cluster members.

D. Coherence Enterprise Edition, with the compute grid running against a set of Coherence*Extend proxies and
continuous query cache on Coherence*Extend clients.

Correct Answer: A

QUESTION 9

You have developed and tested your Coherence application on a single physical machine by using the following
operational configuration:
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<coherence>
<cluster—-config>
<unicast listener>
<well-known—addresses>
<socket-address 1d="1">
<address></ address>
<port>8088</port>
«/socket—address>
</well-known-addresses>

<address>127.0.0.1</address>
<port>B0EB</port>
</unicast—listener>

<multicast-listener>
<address>237.0.0.1</address>
<port>22000</port>
<time-to-live>0</time-to-live>
</multicast-listener>
</cluster—-config>

<logging-config>
<severity-level>9</severity—-level>
</1ogging—-config>
</cocherence>

What two configuration changes must be made to run your application on multiple physical machines using multicast?
(Choose two.)

A. Lower the logging severity level to 3.

B. Change the unicast listener address to a non-loopback address.
C. Increase the multicast listener time-to-live value.

D. Specify a list of well-known addresses.

Correct Answer: BD

https://docs.oracle.com/middleware/1212/coherence/COHAG/deploy_checklist. tm#COHA G5301

QUESTION 10
Identify four components of the Oracle Cloud Application Foundation. (Choose four.)

A. WebLogic Server
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B. Database

C. Virtual Assembly Builder

D. Exalogic Elastic Cloud Software
E. Tuxedo

F. Coherence

Correct Answer: ACEF

QUESTION 11

Which three packages are available in the JRockit VM? (Choose three.)
A. java.io.*

B. java.util.*

C. java.swing.*

D. java.sql.*

E. java.awt.*

Correct Answer:. ABE

QUESTION 12
What could cause an AddTargetUser operation to fall with a 401 or a 403 error?
A. Virtual Assembly Builder Deployer application is down.

B. The user whose credentials were used to connect to Virtual Assembly Deployer has not been granted the Cloud
Admin role.

C. A connection between Virtual Assembly Builder Deployer and oracle VM Manager resource pool has not been
configured.

D. The Oracle VM Manager Admin user, whose credentials were used in the createTarget operation, has not been
granted the Application Admin role.

Correct Answer: B

QUESTION 13
Which component is optimized for the JRockit VM?

A. swing-based desktop applications
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B. browser-based applets

C. embedded devices

D. server-side applications

E. mobile phones

Correct Answer: D

The Oracle JRockit JDK includes the Oracle JRockit Java Virtual Machine (JVM), which is developed uniquely for server-

side applications and optimized for Intel architectures, ensuring reliability, scalability, and manageability for Java
applications.

QUESTION 14

Which configuration file must a user edit to configure Oracle HTTP Server?
A. httpd.conf

B. obj.conf

C. workers.properties

D. magnus.conf

E. oraclehttp.conf

Correct Answer: A

QUESTION 15

The performance of your query is very slow.

Which two actions would you take to diagnose potential bottlenecks? (Choose two.)
A. Check that indexes are registered against the fields being queried.

B. Monitor the task execution time.

C. Use the QueryRecorder to see the query Trace and Explain plan.

D. Check that indexes are cached against the fields being queried.

E. Monitor the task performance time.

Correct Answer: BD

170-468 Practice Test 170-468 Exam Questions 170-468 Braindumps

170-468 Practice Test | 1Z0-468 Exam Questions | 1Z20-468 Braindumps 717


https://www.certbus.com/1z0-468.html
https://www.certbus.com/1z0-468.html
https://www.certbus.com/1z0-468.html
http://www.tcpdf.org
https://www.certbus.com/1z0-468.html
https://www.certbus.com/1z0-468.html
https://www.certbus.com/1z0-468.html

